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T -1/ PART -1

CHILD DEVELOPMENT AND TEACHING METHOD

Which of the following teaching method is
not democratic ? :

(1) Lecture method

(2) Group discussion

(3) Project method

(4) Participatory method

Which of the following is not related to the
affective domain of Bloom’s taxonomy of
educational objectives ?

(1) Receiving (2) Knowledge

(3) Organisation (4) Responding

Which of the following is not the level of
teaching ? ’

(1) Memory level

(2) Understanding level

(3) Reflective level

(4) Motivation level

Learning is an association between
stimulus and

(1) Response (2) Animal

(3) Past experience (4) - Behaviour

Which one of the following teaching
method$ is based on progressive theory ?
(1) Questioning (2) Deductive
(3) Inductive (4) Problem solving

Which of the following set is correct about

the elements of creativity ?

(1) Frequency, Flexibility, Originality,
Elaboration

(2) Fluency, Feasibility, Originality,
Elaboration

(3) Fluency, Flexibility, Originality,
Collaboration

(4) Fluency, Flexibility, Originality,
Elaboration
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At the age of 4 - 5 years, a male child
develops a more profound attachment
towards his mother as compared to his
father. What was the term coined by Freud
for this change of behaviour of child ?

(1) Oedipus complex '

(2) Electra complex

(3) Super ego

(4) Narcissism
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Which one of the following is not included in
the Thorndike’s secondary laws of learning ?
(1) Law of partial activity

(2) Law of action-reaction

(3) Law of analogy

(4) Law of multiple response

If a person is getting help from his previous
experiences of driving scooter during the
learning of car driving, what type of transfer
of learning is depicted in this example ?

(1) Vertical transfer
(2) Bilateral transfer
(3) Horizontal transfer
(4) Positive transfer

Disability related with communication is
(2) Dyscalculia
(4) Dysgraphia

(1) Dyslexia
(3) Dysphasia
Which approach is suitable for the education
of ‘Mentally Retarded’ children ?

(1) Enrichment approach

(2) High level curriculum

(3) Individualized instructions

(4) Acceleration approach

Which of the following statement is not
correct ? _

(1) Development is a quantitative process.
(2) Education is a goal oriented process.
(3) Learning is a process of behavioural

change.
(4) Growth is a biological process.

Child’s specific ability and specific potentiality
in particular field is known as

(1) Aptitude (2) Interest

(3) Value (4) Motivation
Iconic stage of Bruner is similar to which
stage of Piaget’s cognitive development ?
(1) Concrete-operational stage

(2) Sensory-motor stage

(3) Formal operational stage

(4) Pre-operational stage

Which one is not related with trait theory
of personality ?
(1) Cattell

(8) Freud

(2) Eysenck
(4) Allport

[ P.T.O.
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Which one of the following is not an
obstacle in problem solving ?

(1) Anxiety

(2) Negative mental set

(3) Insight

(4) Frustration

Which one of the following is an emotion ?

(1) Amusement (2) Attention

(3) Stimulus (4) Memory
Who is basically linked with ‘FIACS’ ?
(1) Flander (2) Morrison

(3) Herbert (4) Lippitt

Which of the following statement is not

correct regarding ‘Questioning skill’ ?

(1) Increasing the number of questions
with yes or no

(2) Develop sensitivity towards listening

(3) Using encouraging methods while
questioning

(4) Encourage questioning

Which of the following is projective
technique of personality measurement ?
(1) Rating scale

(2) Observation

(3) Interview

(4) Thematic Apperception test

The stage of creative problem solving in
which an individual do not give attention
to irrelevant information is known as

(1) Ilumination (2) Incubation

(3) Preparation (4) Translation

The smallest unit of ‘Spoken language’ is
(1) Phoneme (2) Syntax
(3) Semantics (4) Morpheme

From Which of the following questions’
creative thinking can be best predicted ?
(1) Can you tell its answer ?

(2) What can be different ways to solve it ?
(3) Who can answer it ?

(4) Tell the right answer.

Micro-teaching is

(1) Scaled down teaching
(2) Effective teaching

(3) Evaluation teaching
(4) Real teaching
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25. Match the list A and list B.

List - A List - B
a. Hull I. Need theory
. McDougall II. Instinct theory
c. Freud III. Psycho-analytical
theory
d. Maslow IV. Drive-reduction
theory

a b c d
(1) v 1m 1 1
2 v 1 1 I
3 1 I m v
4 v I 11

26. Which of the following principle is not
included in Programmed Learning ?
(1) Principle of active responding
(2) Principle of reinforcement
(3) Principle of practice
(4) Principle of small steps

27. Which one is notimportant in the learning
process of Thorndike’s Stimulus-Response
Theory (S-R Theory) ?

(1) Motive

(2) Stimulus

(3) Operant behaviour
(4) Drive

28. Which of the following learning is placed
on the lowest level in Gagne’s Hierarchy of
Learning ?

(1) Signal learning
(2) Chain learning
(3) Concept learning
(4) Verbal learning

29. Voice modulation during teaching is the
example of
(1) Skill of reinforcement
(2) Skill of closure
(3) Skill of stimulus variation
(4) Skill of introduction

30, Which of the following is not the element
of communication process ?

(1) Feedback (2) Reinforcement
(3) Medium (4) Interaction
[ P.T.O.
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WIT - III / PART - III
WINT - II : 37057t / Language - II : ENGLISH

Complete the following sentence with the
most appropriate word :

Priya is not for this kind of a job.
(1) cutup (2) cut through
(3) cut out (4) cutin

Which of the following nouns is a material
noun ?

(1) Irony (2) Class

(3) Kalidas (4) Iron

Which of the following is a grammatically
acceptable sentence ?

(1) Give me four five rupee notes.

(2) Give me four five rupees notes. -

(3) Give me four fives rupees notes.

(4) Give me four five rupee note.

Identify the subject of the verb in the
following sentence :

Every boy along with his parents is waiting
in the next room. ,

(1) Every boy along with his parents-

(2) His parents ' ’

(3) Boy along with

(4) Every ' :

Which of the following sentence has an

adjective clause ? _ i~

(1) Ibought a chain because it was
beautiful.

(2) Ibought a chain and it was beautiful.

(3) I bought a beautiful chain.

(4) I bought a chain which was beautiful.

Direcﬁon : Read the following stanza carefully and
answer the questions (Question Nos. 66 and 67)

that follow it :

66.

67.

Break, break, break, .
On thy cold gray stones, O Sea |
And I would that my tongue could utter

The thoughts that arise in me. '

What is the meaning of the word ‘utter’ ?
(1) stifle (2) Speak
(3) . Suppress (4) Silence

What is the mood of the poet ?
(1) None of tl"xese

(2) Pessimistic

(3) Optimistic

(4) Both (2) and (3).

Paper - 2/B

Direction :

Read the passage given below and

answer the questions (Question Nos. 68 and 69)
that follow it :

The first step is for us to realize that a city need
not to be a frustrater of life; it can _bc among
other things, a mechanism for enhancing life, for
producing possibilities of living which are not to
be realized except through cities. But, for that
to happen, deliberate and drastic planning is
needed. Towns as much as animals, must have
their systems of organs — those for transport and
circulation are an obvious example.

68.

69.

70.

71.

72'

73.

74.

Which one of the following has the opposite
meaning to the word ‘frustrater’ in the
passage ?

(1) Applauder
(3) Executor

(2) Approve
(4) Promoter

The word ‘drastic’ in the passage means
(1) Powerful (2) Consistent
(3) Determined. (4) Orderly

Fill in the blanks with correct preposition :
Napoleon had genius military
tactics, without doubt he is genius
Mathematics. '

{1): -1n, for (2) at, in-

(3) in, at (4) for,in

Which part of speech is the word
‘ingenious’ ?

(1) Adjective - (2) Pronoun
{3) Adverb. (4) Noun

The feminine gender of the word
‘Bachelor’ is
(1) Steward
(3) Wizard

Change the following sentence into a
negative one :

This boy plays football.

(1) - This boy no plays football.

(2) Spinster
(4) Woman

(2) This boy do not plays football.
(3) This boy does not play football.
(4) This boy not plays football.

Change the following sentence into a
question :

Madhusudan knows how to éheat.
(1) Does Madhusudan knows how to

cheat ?
(2) Does Madhusudan know how to
cheat ? ‘

(3) Do Madhusudan knows how to cheat ?
(4) What Madhusudan knows how to

cheat ?
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75.

76.

¢

78.

79.

80.

81.

82.

Which suffix should be used to pluralize
the following word ?

taxi
(1) -es (2] =en
(3) -ren 4) -s

Fill in the blank with the right word from
the alternatives :

Sardar Patel the farmers of Bardoli
in their fight against the government.

(1) lead (2) leed

(3) led. (4) lad

Choose "_the masculine gender from the
options given below :

(1) Countess | (2) Peahen

(3) Drake, (4) Roe

Which of the following sentences has a
request ?

(1) Wish you a happy journey together.
(2) “I got the concert tickets !” :

(3) How fast you ran !

(4) “Could I borrow some money from you, ||

please ?”

Which of the following word does not have
silent letter/letters ?

(1) Knowledge (2) Cattle,

(3) Psychology ‘ (4) Doubt

Which conjunction will be the most
appropriate to join the following
sentences ?

You will not succeed. You work harder.

(1) unless - (2) than

(3) none of these (4) until

Which of the following sentences has been

punctuated correctly ?

(1) Renu said give me a pen a pencil and
a book.

(2) Renu said “Give meapena pencil and

a book.”
(3) Renu said, “Give me a pen, a pencil
and a book.” . ‘
(4) Renu said Give me a pen, a pencil and
a book.

Fill in the blank in the following sentence
with the correct alternative :

I did not inform at all.
(1) Anybody (2) Any
(3) None (4) Nobody

Paper - 2/B
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83. The antonym of ‘Justice’ is.
(1) Injustice (2) Disjustice
(3) Iljustice (4) Unjustice

84. The synonym of ‘Adroit’ is
(1) Clever (2) Powerful
(3) Potent (4) Skilled

85. Which alternative is the correct indirect
form of the sentence ?
He said to me, “When will you come
back ?”
(1) Heasked me when you would go back.
(2) He asked to meavhen I would go back.
(3) He asked me when he would go back.
(4) He asked me when I would go back.

86. Change the following sentence into Active
voice : . : .
The bird was killed by a cruel boy.
" (1) A cruel boy had killed the bird.
(2) A cruel boy killed the bird.
(3) A cruel boy was killed the bird.
(4) A boy killed the cruel bird.

87. Change the following sentence into Passive
voice : ' -
He kept me waiting.
(1) "I had been whited by him.
(2) Iwaited by him. - S S
(3) Iwas kept waiting by him.
(4) 1was waited by him.

88. Which of the following sentences has a
‘modal verb’ ? e _
(1) Seeing is believing. F
(2)° Her sister known to me.
(3) She comes here to study.
(4) You must improve-your spelling.

89. Fillin the blank in the following sentence with

the correct word from the alternatives :
He solved all the questions with

(1) easy (2) easily

(3) easier ' (4) easev-

90. Fill in the blank with the correct form of

pronoun in the following sentence :
Rama and __were present.
(1) None of these

2) I

(3) ‘Me

(4) Both (2) and (3)-

[P.T.O.
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WTT - IV (1) / PART -1V (1)
nfora va fagm / MATHEMATICS AND SCIENCE

FwFREmTEn m A, A m (m + 2) (m +4)
T fanfa am

(1) 339 2 59
@ 7% 4) 23

(3] (] (1) v
T

(1) 9 (2) 8 fi
(3) 6 4) 12
T ST A R Tt % 10 Pgsenn #92 % ghs

%\ T s T R | Yo g W A 20 A,
50 ft 3ik 50 Feft B | T T 6 A H T F
v e Y TawESaT ® 7

100 6 =i &t
5000 6 a1 &

(1)
(2)
(3) 1000 V6 @i ad
(4) 10000 V6 @i’

7z feema v ax? + bx + ¢ = 0 % TH I,
@itﬁlﬂﬁgﬁqﬁ,ﬁﬁﬁ%ﬁaﬂﬁﬁW'ﬂﬁﬁ?
(1) a=c (2) ac=1

38) b=c 4 a=b
mw,mmﬁaﬁloaﬂﬁmw
mamﬁumaﬁmmﬂﬁm

(1) 5% (2) 8%
(3) 10% (4) 2%
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92.

93l
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For a natural number m, the product
m (m + 2) (m + 4) is always divisible by

(1) 3 (2) 5
(3) 7 4 2
3 2x-6 9
If (2) x(@-] =(Z) , then value of
7 81 9
X is
(1) 9 (2) 8
(3) 6 4) 12

An umbrella is made by stitching
10 triangular pieces of cloth of two different
colours. Each piece measuring 20 cm,
50 em and 50 cm. How much cloth of each
colour is required for umbrella ?

100 V6 sg.cm

5000 V6 sq.cm
1000 V6 sq.cm
10000 V6 sq.cm

(1)
(2)
(3)

(4)

If one root of the quadratic equation
ax? + bx + ¢ = 0 is the reciprocal of the other,
then which of the following is correct ?

(1) a=c (2) ac=1

(3) b=c (4) a=b

A sum of money doubles itself in 10 years
at simple interest. What is the rate of
interest ? :
(1) 5%
(3) 10%

(2) 8%
4) 2%

[ P.T:O.
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97.

98.

99.

100.

101.

102.

103.

104.

RIS WA B, B, 3ih B, o wam A Fafiedt 3
3:7: SEFTWH"@W%%EPIB # b,
fafemi B ﬁmﬁwmﬁgaﬂw%w
ﬁaﬁﬁﬂ@ﬂﬁé,?{aﬁgmé&ﬁﬁ%ﬁﬁwﬁ

FH H&T R

(1) 630 (2) 238

(3) 942 (4) 945

IR x=(2-V3) A, -2 7x+5
 HIUMAR

(1) 2 2) 1

(3) O 4) 3

aR 10° A + ATH il dEn @, a‘mﬁw@rw
371 it TE

(1) 3 2 4

(3) e (4) 2

Tt R g Y g STy F A 68 I R | 8 =
T I TG H SIGAE 12 : 1 91 | 4 T8 18 I

3T 1 AT BT
(1) 15:4. (2) 14:3
(3) 16:5 (4) 13:2
G abx? = (a2 + b? + 2ab) (x - 1)%311\??[3?.
S I 8
1

(1) 2 # 7(2) =
@ 2 @ 1

3 i
Tfe foret 1iiet i BIsaT # 50% 3 gfg it e, A gEh
uTvd Sk 1 fepa gfayra i gig nfi ?
(1) 125% " (2) 150%
(3) 200% 4) 100%
i@lﬁx=13ﬂty=1a§9ﬁ@3ﬁﬁ’ﬂﬁ?{m%
(1) (1,0) (2) (1,1)
(3) (0,0) 4 0,1)

I <) eTeHe T oh THTI HTE T OIR HTed
FAYT: 5 a1 3 B, @ wEand 31d U |

(1) 9,1 (2) 4,16

(3) 4,8 4) 2,4

3 it 35 ST o oTgaT 27 : 64 8, TR W
et & et o g &

(1) 3:4 (2) 9:16

(3) 27:64 (4) 3:8
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‘a tree in

(1) 3

FRESHERS NOW

R A

IfB, B, and B, are three kinds of birds on
the ratm 3:7:5and number of B,
birds are more than B, birds by a mu1t1ple
of 9 and 7 both, then minimum number of
birds on the tree are

(1) 630
(3) 942

-1
If x= (2 = \/5) , then the value of
-2x2-T7x+5is
(1) 2 2 1
3 O (4) 3
If 10° A + A is a perfect square, then the
minimum no. of digits in A is
(2) 4
(4) 2

(2) 238
(4) 945

(3) Un_deterrnined

The sum of the present ages of father and
son is 68 years. 8 years ago, the ratio of
their ages was 12 : 1. The ratio of their ages
after 4 years hence is

(1) 15:4 (2)
3) 16:5 4)

14:3*
13: 2

The sum of the reciprocals of the roots of
the equation abx? = (a? + b? + 2ab) (x — 1)
is

(1) 2 (2) L

2

3) 2 4 1
3

If the radius of a sphere is increased by
50%, then how much percentage increases
in its lateral area ?

(1) 125% (2) 150%

(3) 200% (4) 100%

The co-ordinate of point of mtersectlon of
linesx=1andy=1is

(1) (1,0) (2). (1, 1)

(3) (0,0 4 0,1)

If arithmetic and geometric mean of

two positive numbers are 5 and 3, then
numbers are

(1) 9,1 (2) 4,16

(3) 4,8 4) 2,4

The ratio of volume of two cubes is 27 : 64,
then ratio of their total surface area is

(1) 3:4 () 9:16

(8) 27:64 4) 3:8
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107.
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109.
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111.

112, -

At X4+#=14€l,?ﬁ x3+—175mﬂﬂ%
-

A. 3J6.

18
B. —

J6

2

C. 9\/%
D. 32
(1) A,C,D (2) B,C,D
3) A,B,D (4) A,B,C
IR Byt ABC & o1=9:39 1 %5 O &1 3l
2BOC = 110° &, @ .BAC & qH 8
(1) 40° (2) 55°
(3) 110° (4) 20°
ofe frelt e F 75% § 75 e 98 T
Bl ST, < 98 T et :
(1) 270 (2) 225
(3) 325 (4) 300
250, 340, 430 G 520 T I TEAT ®-
(1) 3%, (2) 4%
(3) 5*° (4. 2%

AB T 99 1 T § 31 ABCD 36 Hidt 1 <5hid

=g 13k LACD = 40° &, A ZBAD AN

(1) 40° (2) 80°

(3) 90° (4) 50°

g0 <x<5qM5<y< IOE\T,W[E]W
sfreaq 9H g y
a1 L

(3) 2 4 0

gl y = 7% - 2 ¥ foru fefafa & & FF-4a1

FAEAE !
(1) 76 G Al e € |

(2) TEHAEAE |
(3) 70F S EAE |

(4) THRFEEATEE |
(49)1556 1 ﬁan'aa@l@fq,??ﬁ v 8 7
i

i, 48
i, 59

V. , '

1) i @RV i @ iv
53] i ol il

{3; 1\311: i
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If x* +—1-4—=14, then value of x° +-—13—is
X X
A 3J6
18
B. P—
J6
2
. o
D. 3.2 -
(1) A,C,D (2) B,C,D
3) A,B,D (4) A,B,C

If O be the centre of incircle of a triangle
ABC and « BOC = 110°, then value of z/BAC
will be
(1) 40°
(3) 110°

(2) 55°
(4) 20°

If 75 is added into 75% of a number, gets
that number, then that number will be
(1) 270 (2) 225

(3) 325 (4) 300

Greatest number among the 250, 340, 430
dno™ is -

(1) 3% (2) 4%

(3) 5% (4) 25°

AB is a diameter of a circle and ABCD is a
cyclic quadrilateral in that. If ZACD = 40°,

.-then measurement of ZBAD is

(1) 40° (2) 80°
(3) 90° (@) 50°
If0<x<5and5<y< 10, then maximum
valuser | = | will b
0 Ls g @ 2

2
(3) 2 4) O

~ For the equation y = 7x — 2, which of the

following statement is true ?

(1) It has a unique solution.

(2) It has two solutions.

(3) It has infinite number of solutions.
(4) It has no solution.

(49)'5 - 1 is completely divisible by which

number ?

i, 50

il. 48

{if. 29

iv. 8

1) ilandiv 2) lii and iv
3) {and lii 4) iand ii

[ P.T.0.
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cos135°sin210°cos 150°
sin270°cos 315°
1

(1) 7

B) V3 (4)

2
R waa fawn demet # EEw 6723 ¥, @ B
T e
(1) 7
(3) 91

&1 M B

(2)

& =&

(2) 729
Tfe x2 + pX — q YT 5x2 - 3px — 15q 1 HEdH
THIYH (x - 3) B, @ p a°1 q F W= a8

S
1) -3.4 @ -2,-4

3
5

@ 34 @ 4-3

@ém,aﬁmmm@ﬁmwaﬂt'ﬁé
T TAM & | 37 5 I Sawhedl 8 ST
(1) V3:43:1 (2) 1:43:43

3) v2:1:43 4) V2:42:1

afe 15% T 3T 15% T 1 A= 2 450 A,
F A |

(1) 21,500 (2) 2,000

(3) ¥2,200 (4) 21,200

It A ABC ThamfgaTg yw & Sl 2 ABC = 90°
e, a9 A ABC IR G sy §

(1) 2(AC)* = (AB)?

(2) (AB)* + (AC)? = (BC)?

(3) (BC)? + (AC)?= (AB)?

(4) (AC)* = 2(AB)?

af #é = e garER 99 & gafnmmﬁnz
 qg ot 8, a9 36 =1 & 39 9o ue oY we e
F § ogdid g B

(1) 5m fire (2 4m fire
2 N

3) = fuwe (4) _fgﬁm

4m
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cos135°sin 210°cos150° i

value of 5in 270°COS 315°
1 (2) 1 _‘/g
W 7 4
J3
(3) V3 Y

T e s
ultiplication of two consecu
zﬁfnltl:ers Ecs 6723, then square root of the
smaller number is
(1} 7
(3 91

If highest common factor of x? + px —q and

5x2 - 3px — 15q is (x - 3), then value of p
and q will be ,
_5_ 4 (2) _E -4
(1) -3 =
5 - 3
9, .
B 3 a #-s

A cylinder, a hemisphere and a cone is
having same base and same height. Their
area of curved surfaces are in the ratio

(1) Vv3:43:1 (2) 1:4/3:43
3) v2:1:43 4 V2:42:1
If the difference between 15% loss and
15% gain is ¥ 450, then the cost price is

(1) 1,500 (2) 2,000
(3) 2,200 (4) 21,200

ZABC =90°, then the true statement
about A ABC is

(1) 2(AC)? = (AB)2
(2) (AB)? + (AC)? = (BQ)?
(3) (BC)? + (AC)2 = (AB)2
(4) (AC)? = 2(aB):
g th
part of a circular track

he same rate, how many
€ take to complete one
d the entire track ?

Sm
1 - 4
(1) 3 nutes g) M . tes
(3)

If a man covers %

In m minutes, att
minutes does h
revolution aroun

g 5

— s m .
qm Minutes (4) M minutes

4
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120. IRx+y=2z3 A x_z+y_zmnm317n
(1) 1 (2) 2
(3) xyz (4) O

121.

122.

123.

124.

125.

126.

127.

128.

Frafefiaa # @ S9-w fRafim, T 6 @@
TR 7

(1) fefmc (2) fafm D

(@) foerf= e (4) Toafm B

i ST et farfey o orgem s i Hie
T S = wiefE e e

(1) Fa&d (2) WRUH

(3) UEwH (4) Wfewrd
A Y PR-TmFase ?

(1) T (2) IF6

(3) FHa (4) ERH

aies i Wi 8 S s ifEan B 8, 3uH
IH R

(1) TRRH (2) TH.TE.TE.
(3) TE.TE. (4) TRAA
RFa g T

(1) WrdereL (2) @

(3) WY (4) Hie=E

ST FIOR TI3UEE o1 A0 fofa Siren

(1) ¥ Serad fafa g

(2) T g

(3) FHARRTE

(4) e faiien & 510

2-methyl propane # 3° — el Sl TEIT ©

(1) 3 (2) A

(3) 2 4) 1

et i a1 .40 E. AT g
V

CH,-CH- OCH,
I 0
CH,

() 2- methoxy — 2 - methyl ethane

(2) 2- methoxy propan;

3) Isopropyl methyl ether

54; 1 —-pmethoxy - 1 - methyl ethane
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If x + y = 2z, then the value of + is
X-2 y-2

(1) 1 (2) 2

(3) xyz (4) 0O

Which of the following vitamins acts as
hormone ?

(1) Vitamin C
(3) Vitamin E

(2) Vitamin D
(4) Vitamin B
According to five kingdom system of

classification, bacteria and blue green algae
are included in

(1) Fungi (2) Monera
(3) Plantae (4) Protista
Which of the following is a tissue ?
(1) Blood (2) Kidney
(3) Lung (4) Ovary

Name of the hormone which is at the
peak during ovulation is

(2) FSH
(4) Progesterone

(1) Estrogen
(3) LH

Hippocampus is a
(1) Protochordate
(3) Mammal

(2) Fish
(4) Coelenterate

The ore copper pyrite is concentrated by
(1)
(2)

Froth floatation process
Gravitational method
None of these

Magnetic process

(4)

Number of 3° — carbons in 2-methyl

propane is
(1) 3 (2) Zero
(3) 2 4 1

IUPAC name of the following compound is
CH, - CH - OCH,
i,
(1) 2 - methoxy - 2 - methyl ethane
(2) 2 - methoxy propane
(3) Isopropyl methyl ether
(4) 1- methoxy - 1 - methyl ethane

S ' [ P.T.O.



129, aﬁq%}amaj@m%ﬁqm%

(1) s
(3) P

(2) Si
(4) N

130. ol x % n, W @ y % n, et ehven o |

131.

132.

133.

134.

135.

A. e x Ty % Wi oivi o ATee
18R |

foeraa & Wiell s gE
C. ywAwam= Y

nx+ny
D. x I A = x

Dy Ty
(1) a1 A (2) ¥@A, B
(3) A, B3RC (4) FF@D
FfiRaa # & -1 foga-greshig e a8 & 7
(1) gewao (2) U=
(3) 3T (4) X-Fertot
geeft o R e 1T T AR 7 Sl &
(1) 45° (2) 90° .
(3) 180° - (4) 0°
TiEaa ®
(1) YR e qures
(2) € ®R A TH AT
(3) T AR HF
(4) T AT
e am e fresh Jeor T enaia @ 7
(1) FeEHM (2) =

1 ST 3 T 01 ISt St B R | g da
ek |

(1) 2mE

lrnE
2

(2)

(3) /2mE (4) - mE
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The bond energy for catenation next to
carbon is ) ‘
{2) Si

1) S
{3; P 4) N
n, mole of substance x was dissolved in

n, mole of substance y.
A. The total of mole fractions of substance
x and y remain 1.
Mole fraction of
No. of moles of x

B.

x {— ]
No. of moles of solution
Ry
ng +ny
Ny

C. Mole fraction of y =

D. Mole fraction of x =
Ty % iy
(2) Only A, B

(4) Only D

+n
(1) Only A
(3) A,BandC

Which one of the following is not an
electromagnetic wave ?

Microwave (2) Ultrasonic
(3) Infrared (4) X-rays

The angle of dip at magnetic equator of
earth is

(1) 45° (2) 90°
(3) 180° (4) 0°
Decibel is

(1) The wavelength of noise
(2 A measure of sound level
(3) A musical note

(4) A musical instrument

Kirchhoff’s current law is based on the
conservation of

(1) mass
(3) none of these

(2)
(4) momentum

charge

The kinetic energy of a particle having mass
m is E. Its momentum will be

1
—mE
2

(1) 2mE 2)

(3) +/2mE (4) amE
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136. 3 x, TeaTd % e o et on ) v v,

S R,

(1) x,>x, ) x,=x,

@) x 3 X, 4 % <%
137. S HI WH.o7E, TS

(1) Treirad (2) art

B ¢ (@) ¥
138. HEH § ey i 0 vl ot

(1) e srgoen

(2) g ol vy 3

(3) ??ﬁﬂﬁsﬁaﬂtqgﬁa@w -.

(4) e argesd
139. U WRYWM & HF 2541 &

(1) 10~ =g (2) 1076 A1ghA

(3) 107° A=A (4) 1072 H1gHRE
140. & q01 6t =eT Afrran Bt @

(1) =4 (2) o

(3) fafad (4). aaﬁ{

141. A3 F e TR R ?
(1) HRH=ET GeAHTH .

(2) TR
(3) HEH=RAI IIeAHTE
(4) fefean fegarer

142, frerii @ 9 ot e e’ ® 7
(1) oeffen (2) ==
(3) faerd (4

143, e 2 areft wreradt o foerT L
A. S FaNET i SiEeH
B ofe sEdE i FE
C. < aiEE jii, 7 O
D. whwdaer v T
(1) A-iv B-iii C-ii D-?
(2) A-iii B-iv C-i D—lf
), A= Pl By 570
(4) A-iii Cal RE
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If the image of an object having length x,
with convex mirror has length x,, then

(1) x,>x, (2) x,=x,
(3) xl § x2
The SI unit of heat is

(1) Kilocalorie
(38) Joule

(4) x,<x,

(2) Erg

(4) Calorie

In medium, the nature of sound waves is
(1) only transverse

(2) both longitudinal and transverse

(3) neither longitudinal nor transverse
(4) only longitudinal

The value of one Angstrom is

(1) 10" micron (2)

(3) 107'° micron

10-% micron

(4) 1072 micron

The speed of sound wave is maximum in
(1) Air (2) Steel
(3) Vacuum (4) Water

Which is the aquatic bryophyte ?
(1) Marchantia polymorpha

(2) Riccia fluitans '

(3) Marchantia palmata

(4) Riccia discolor

Which of the following is ‘total stem
parasite’ ?
(1) Rafflesia
(3) Viscum

(2) Santalum
(4) Cuscuta

Match the following events in plants.

A, Absorption i. Xylem
of water

B. Absorption ii. Phloem
of minerals

C. Transport of iii. Root hairs -
water -

D. Transport of iv. Epiblema
minerals

(1) A-iv B-iii C-=ii D-i

(2) A-ili B-iv C-ii D-i

(83) A-iv B-iii C-i D-ii

(4) A-iii B-iv C-i D-ii

[ RO
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T STfera R § 7

(1) = =1 Sfeert < T 21 ) Fmcaeal |

(2) = 7= sfa e R § saw ma |

(3) AN R ST N T B i HEw A
B

(4) S ST < v v AR Wi &
CRIPE IRl ‘

et & HrET SEATT % W o e e w2

(1) veTeE, i, goam T afdsm

(2) fcerm, afden, serm wd qume

(3) 3w, Sidewm, afde & gwmE

(4) afdem, afdem, e @ g

FHRTE B veRid s g ?

(1) 2Zn+0,-22Zn0

(2) 2ZnS+30,-22n0+ 250,

(3) MgCO,— MgO + CO,
(4) 2Ag+2HCL+[0] - 2 AgClL + H,0

FA-H TEH T o T I R Fren R ad & 7

(1)  H.,S (2) Br,

(3) SO, . @4 a,

= il w femm i

1. BF,

1. IF,

. Co,

IV. PCI,

= i § g € -
(1) HIARIV (2) I, 11 3R IV
(3) LILIM IV (4 13RI

e & & FA-a TEEE dre i % fog
ged Ay framefier € 7
(1) CH,<°)CHO
(3) No,<-CHO

e At 3 T ot i S @ A A ST T W
A. T o 3w # o 8

B. ] B # 9ig aft B

C. 3T Gt 3 e # @ I 8

(1) e B (2) wadC

(3) A, B3INC (4) *aCA

(2) CH,0<©)-CHO
(4) CH,CHO
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Endemic species are
(1) Wild species which are under threat

of extinction.
(2) Wild species which are rescued from

poachers. )
(3) Plants and animals which are very
common and distributed throughout

globe. _
(4) Plants and animals which are found

exclusively in a particular geographical
area.

The correct sequence of parts of female
reproductive organ in plants

(1) Ovary, Style, Thalamus and Stigma
(2) Stigma, Style, Ovary and Thalamus
(3) Ovary, Stigma, Style and Thalamus
(4) Style, Stigma, Ovary and Thalamus

Which represents calcination ?

(1) 2Zn+0,— 22Zn0

(2) 2ZnS+30,—22Zn0O + 2 SO,

(3) MgCO,— MgO + CO,

(4) 2Ag+2HCI+[0]— 2 AgCl + H,O

Which colourless gas turns lead acetate
paper black ?

(1] B8 (2) Br,

(3) SO, , (4) Ci,

Consider the following compounds :
L- BF,
II. IF,

co,

Among these compounds, the electrophiles
are

(1) I and IV
(3) LI, I and IV

(2) I, III and IV
(4) Tand II

Which of the following is most reactive
for nucleophilic addition reaction ?

(1) CH,<°)CHO
(8) NO,~0)-CHO

(2) CH,0<°>CHO
(4) C,H,CHO

On coming down, the group in periodic

table '

A. The value of electronegativity
decreases

B. Atomic radius increases

C. The value of ionisation enthalpy

decreases
1) Only B (2) Only C
3) A,BandC (4) Only A
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91. ‘Fﬁﬁ%ﬂ%%w%mﬁgm?
(3) ) aa\aﬂﬁl:
92. T TTEw t SuTrreht aveRyRed f T 35
VAN S R ?
(1) Tadq
(2) TsaEdq
(3) MTERE
(4) anfecuads |
93.  svehfea & & w-eh e ors aion sy
YeEAaA & 7
(3) < wephy (4) WTCN HEPR
94, X AHT H TG F Yoo TEEd IT TR
v e
(1) =9 T5ad A o
(2) <A G
(3) <ite T e |
(4) WielE HESAYR § TR A
95. 3TqH S STUfIRad foRE e STGRIIE J et o ?
(1) & (2) FFHH
(3) e (4) SR
96. 1916 i uE H 2 &l ST i e fora
?
ﬂiﬁé’r.aﬁ.ﬁﬂ% (2) e ST T
(3) . %, e (4) e
97, gifera AT :
A, T T H21ed T 1. e AR
B. fRFH= 11, g g
C. TgH= ared 111, & GHr
D, . S, T 1v. & FA
A B CD
(1) m v I I
2 v 1 I
3 1 I IV
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Who got built ‘Sudarshan Lake’ ?
(1) Samudragupta (2) Bindusara
(3) Ashoka (4) Chandragupta

The Genealogy of the Pushyabhuti dynasty
begins with the name of which of the
following Kings ?

(1) Naravardhana

(2) Rajyavardhana

(3) Prabhakaravardhana

(4) Adityavardhana

Which among the following Chalcolithic
rural culture is earliest ?

(1) Ahar Culture (2) Kayatha Culture
(3) Jorwe Culture (4) Malwa Culture

Northern India, before rise of Mauryas

was divided in

(1) Ten Monarch States

(2) Two States

(3) Twenty Monarch States

(4) Sixteen Mahajanpadas and -
Republics

Aram Bagh was constructed by which
among the following Mughal Emperor ?
(1) Humayun (2) Akbar

(3) Jahangir (4) Babur

Who started Home Rule Movement in India
in 1916 ?

(1) B. G. Tilak

(3) G. K. Gokhale

Match the following :
A. Raja Ram Mohan .

(2) Lala Lajpat Rai
(4) Gandhiji

Ram Krishna

Roy Mission
B. Vivekanand II. Prarthana Samaj
C. Dayanand III, Brahmo Samaj
Saraswati
D. M. G. Ranade IV. Arya Samaj
A B CD
1) 1II 1v 11 1
2) IV 1 1II I
3) 1 I I IV
4 11 I Iv I
| P.T.Q,
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Which of the following is called “Mother of
Indian Revolution” ?

(1) Kalpana Dutt

(2) Madam Bhikaji Kama

(3) Annie Besant

(4) Preetilata Vadedar

The text of which of the following authors
furnishes the details of history of the
Kashmir during twelfth century A.D. ?

(1) Kalhana (2) Bilhana

(3) Jalhana (4) Kalidasa

Which of the following Sultan of Delhi
assumed the title of ‘Sikandar Second’
(Sani) ?

(1) Balban

(38) Sikandar Lodi

(2) Alauddin Khilji
(4) Itutmish

Godavari river originates from
(1) Nasik . (2) Betul
(8) Amarkantak (4) Mahabaleshwar

Suez canal connects

(1) Mediterranean Sea - Atlantic Ocean
(2) Red Sea - Arab Sea

(3) Mediterranean Sea — Red Sea

(4) Mediterranean Sea — Arab Sea

Which of the following is/are the ideal
conditions for temperature inversion to
occur ?

A. Cloudy skies

B. Calm and stable air

C. Long summer days

Select the correct answer using the codes
given below :

Codes :

(1) Conly (2) B and C only
(3) A,BandC (4) Bonly
Meghalaya Plateau is an extension of
(1) Himalaya

(2) Aravali

(3) Peninsular Plateau
(4) Tibet Plateau

Which one of the following agents of erosion
is responsible for the formation of sand
dunes ?

(1) Glacier

(2) Underground water

(3) Wind

(4) River
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106.

107.

108'

109.

110.

111.
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114.

ﬁmﬁaﬁqﬁﬁﬁaﬁw-a‘tqm% ~1vEa ) gEd
EERiR G .

‘1) G -JugH (2) QHAY-HUEH

(3) M-S (4) &-ngw
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(1) AR um

(2) SSTER YR

(3) fRmEn ww

(4) FUES U

Fiomaa § & S -a oRee & ged g A R ?
(1) v« oiEe (2) Y ufEe

(3) = REeH (4) I IREEA

(1) " (2) T

(3) TRl (4) wags

gest % TR T 1 e &

(1) SEI-HvEd (2) &-Hugd

(3) uEl (F) (4) wS-TvEd .
T 96F Aidl G-7 Rirat geen § affdifea an
Hfm 2019 Aframd Y ?

(1) S (2) wH

(3) st (4) T

E ¥ gared aed § i $ e
fera &7

(1) 31 (2) 33

(3) 34 (4) 30

'ﬁq;ggqﬁ\a'{:ﬁ’iﬁ[ ‘Te $e wiferd!’ # qitad
gan ?

(1) feamt2014
(3) fewmt 2015

e setand e i i gam srffEm, 1950
raffed

(2) TaRER 2015
(4) TEER2014

(4) e g &
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Which one of the following is the lower-most
layer of the carth’s atmosphere ?

(1) Mesosphere (2) Stratosphere

(3) Thermosphere (4) Troposphere

Which one of the following is a warm
current ?

(1) Canary current

(2) Labrador current

(3) Kuroshio current

Kurile current

Which one of the following is the cheapest
means of transport ?
(1) Water transport (2)

(3)
Antecedent river is
(1) Ganga

(3)

Rail transport
Road transport (4) Air transport

(2) Yamuna

Godavari (4) Satluyj

Outer layer of the earth is called
(1) Hydrosphere
(3) Crust

(2) Troposphere
(4) Lithosphere

In"which country did Prime Minister
Narendra Modi went to participate in G-7
Summit in 2019 ?
(1) Germany

(3) Italy

(2) France
(4) England

What is the number of Judges in the
Supreme Court of India ?

(1) 31 (2) 33

(3) 34 (4) 30

When was ‘Look East Policy’ changed to
‘Act East Policy’ ?

(1) December 2014 (2) November 2015
(3) December 2015 (4) November 2014

The Uttar Pradesh Zamindari Abolition and
Land Reforms Act, 1950 is included in the

(1) Tenth Schedule
(2) Eleventh Schedule
(3) Twelfth Schedule
(4) Ninth Schedule

[ R.T.O.
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(1) 1968 (2) 1959
(3) 1987 (4) 1972
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(3) 15 (4) 16
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Who was the Constitutional Advisor of the
Constituent Assembly ?

(1) K. Subba Rao

(2) K. M. Munshi

(3) Dr. B. N. Rau

(4) Dr. Rajendra Prasad

Which is largest Committee of the Indian

Parliament ?

(1) The Public Accounts Committee

(2) The Business Advisory Committee

(3) The Estimate Committee

(4) The Committee on Public
Undertakings

Which of the following are incorporated in
73™ Amendment of the Constitution ?

A. Zilla Panchayat

B. Kshetra Panchayat

C. Gram Panchayat

D. Nagar Nigam

Select the correct answer from the codes
given below :

Codes :
(1) B,CandD (2) A,BandC
(3) All the four (4) A,Band D

. According to the Indian Constitution, which

of the following has been given Residuary
Powers ?

(1) Centre

(2) States and Centre

(3) Local Bodies

(4) States

In which year Fundamental Duties were
incorporated in our Constitution ?

(1) In1977

(2) In 1978

(3) In 1979

(4) In 1976

In which year ‘Panchayati Raj’ was first
setup ?

(1) 1968 (2)
(3) 1987 4)

1959
1972

How many Matras are there in Tal
Pancham Sawari ?

(1) 12 (2) 14
(3) 15 4) 16"

i



(MO A

122, S HIGW X TH SR R R 7

123.

124,

125.

126.

127.

128.

129.

130.

(1) IR == T

(2) s =g el

(3) R GgE

(4) ors 79 ¥

TAT SR 1 T 99 1 7

(1) U=
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T # HicyTad i FH1 d | W R

SraTg ?

(1) SAfeadifm  (2) it
(3) ffedmatiEr  (4) fereE
raraifer & T AT dcd HH-F1E T
(1) €T (2) T
(3) T (4) €™
13 ATl TEfd weferd @ 7

(1) w=weEd (2) Eleed
(3) T (4) W
Aot fafer smenfa 8

(1) AR

(2) TWAH

(3) T A BT

(4) o HEA W
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Who is the writer of national song Bande
Mataram ?

(1) Sharat Chandra Chattopadhyay
(2) Bankim Chandra Chatterjee

(3) Amir Khusro

(4) Rabindranath Tagore

What is the singing time of Rag Bhairav ?
(1) Noon

(2) Evening

(3) Night

(4) Morning time

C : N ratio of normal soil is

(1) 10:1 (2) 15:1

(3) 20:1 4) 5:1

The relative proportion of soil separates in
a particular soil is called

(1) Soil structure (2)
(3) Soil groups (4)

Soil texture
Soil aggregates

Sewing machine runs heavily due to which
reason ?

(1) When the belt is too loose

(2) 1I.\/Iore pressure is applied on pressure
oot o

(3) When the thread is clogged in the shuttle

(4) Lack of oiling and cleaning

Calcium deficiency in old age leads to which
disease ?

(2) Anaemia
(4) Rickets

(1) Osteoporosis
(3) Osteomalacia

Which element is called protein in
haemoglobin ?
(1) Haemoglobin
(3) Lipoprotein

(2) Globin
(4) Haem

Which German Educationist’s lesson plan
is prevalent in Europe and India nowadays ?

(2) Dalton
Froebel

(1) Montessori
(3) Herbert (4)

Project method is based on
(1) By listening

(2) By watching

(3) None of these

(4) Learning by doing

[ P.T.O.
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131. HawTfig forrma & Hheua &) STEN gy oy 131. Where was the sustainable development

Bl 8 explained for first time 7
) ﬁ? A feie (1) World Development Report
e Eﬁ:ché (2) Brundtland Commission Report
= W‘gﬁ (3) First Earth Summit Report
* fené (4) Human Development Report
132. B33 B e W T sefa i w2 7 | 182, Which of the following is the National
(1) "R Aquatic Animal of India ?
(2) =i e (1) Aligator
(3) g ' (2) Dolfin Gangetica
S (3) Turtle
) (4) Crocodile
133. form o o s stfifem wiia foen man o ? 133. Inwhich year Forest Conservation Act was
(1) 1986 passed ?
1) 1986
(2) 1990 (1)
(2) 1990
(3) 1980 (3) 1980
(4) 1988 N (4) 1988

134. ffaied 9 HH-91 shaye 9e e @ & ? 134. Which of the following is not a green house

(1) HIEH-TI5-TEE1EE effect gas ?
ISICH (1) Carbon-di-oxide

» ' (2) Ozone

3) L (3) Methane

(4) AT (4) Nitrogen

135. frefaflaa 4 @ #H-@ garaem 1 far 7@€ 7 [ 135, Which of the following is not a soil

conservation method ?

(1) chreATsTeh WA
(1) Pesticides

(2) 8 R ol (2) Check soil erosion

(3) Sifa= @r (3) Organic manure

(4) wEA T (4) Crop cycle

136. 3oy Wl o1 STed 9 18 1 136. What is the ideal slogan of Olympic

Games ?

(1) HREITERT (1) Forever higher

(2) anfeema, whiewa, wifeam (2) Altius, Citius, Fortius

(3) Ig sicetdl TEdl ? (3) Keep on changing

(4) TR TS (4) Ever onward

Paper - 2/B 2B
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187, Tfoies § 3 91 ar qremm s @ 7
(1) W @reh!

(2) Yo M=

(3) =

(4) Ty yEsh

TAIREH fh TR F R & 7

(1) 9=

(2) B

(3) =W

(4) =X

Frefeias & & sF-a1 318 gt 1 wift & ol
=BRS¢

(1) SEd

(2) drEEA

(3) <A

(4) @&

o T B favatered el el T8 ¢ 7

(1) HERISE
(2) TEm

(3) TR
(4) TEaweH

TR il g FoRe B

(1) gdiewm. - 120

(2) wmEHLAwE. -8

(3) @ER

(4) og.ddied. - 87

142, =i a fr Tsa A G-’ FE SR 7
(1) TeEIH

(2) A W

(3) =y wewW

(4) wew

“ff7 erza’’ # wfedi = 3T 6 faft @ @ §
(1) afie@ wifdn

(2) enfén mEfm

(3) forem M

(4) THMEAT
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Who is the recipient of Arjun Award from
the following names ?

(1) Pradeep Khalco

(2) Pulela Gopichand

(3) Dara Singh

(4) Vishesh Briguvanshi

How many types of recreation are there ?
(1) Five

(2) Eight

(3) Ten

(4) Four

Which of the following is the best Asana for
knee strength ?

(1) Vajrasana
(2) Tadasana
(3) Chakrasana
(4) Sukhasana

Where is First National Sports University
opened ?

(1) Maharashtra

(2) Assam

(3) Manipur

(4) Madhya Pradesh

A hybrid variety of pigeon pea is
(1) U.P.A.S.-120

(?) L.C.PH.-8

(3) Bahar |

(4) LC.P.L.-87

Which of the following State is called as
‘Soyabean State’ ?

(1) Rajasthan

(2) Madhya Pradesh

(3) Andhra Pradesh

(4) Maharashtra

Growing of vegetables under “Green House”
is known as

(1) Vegetable forcing
(2) Floating gardening
(3) Kitchen gardening
(4) Truck gardening

\ L BT,
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TR S 0 e 1 e e Bl B
(1) 2.65 m. /2
(2) 2.75m, /e
(8) 2.85 . /ae
(4) 2.56 . /aHe
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FHOATS STt & 7

(1) TH=R

(2) TERE

(3) MR

(4) TISTHR

TioTd TR H et Wi e 3

(1) ==

(2) "R

(3) faarfim s afis sam

(4) FE

Fefoiga faftmi § @ siem vam i gaiam fafy
TR 7

(1) s

(2) o

(3) T

(4) 3T

ffem wmem forwr fomn 3 wegss S 8 7
(1) FreTeEge & gred #

(2) FEH A :
(3) =gfFTh oA & A |
(4) WIEH 9§

<= % foTy] 3 19 15T |
(1) wveanfien fedifaf
(2) ferfsr e

(3) aftera erHEE

(4) e s

e Fafey o i fo o &

(1) v 1 ged T W
2) m‘qmq\ﬁ;’fsﬂﬁrﬁm

(3) & Eed A ™
(4) Teft 3 Tt H gaH
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The average value of particle density of soil is
(1) 2.65g/cm?®

(2) 2.75 g/cm?

(3) 2.85g/cm?

(4) 2.56 g/cm?

Which one of the following is popular
system of planting in Hill Region ?

(1) Quincunx

(2) Contour

(3) Square

(4) Hexagonal

Protective nutrients in a Balanced diet are
(1) Fat

(2) Protein

(3) Vitamins and minerals

(4) Carbohydrate

Which one of these is the best method of
cooking ?

(1) Roasting

(2) Frying

(3) Baking

(4) Steaming

Trypsin enzyme is helpful in which action ?
(1) Digestion of carbohydrate

(2) Digestion of fat

(3) Digestion of nucleic acid

(4) Digestion of protein

Name the Chickenpox virus.
(1) Entamoeba histolytica
(2) Vibrio cholerae

(3) Bacillus Typhosus

(4) Variola virus

Schafer method is used for

(1) Fractured rib

(2) Unconsciousness

(3) Fractured leg bones

(4) Someone who is drowning
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T4V /INSTRUCTIONS )
AR, AR, IR o g ot whifRe w5y @ wpe ot A st i ArAATAT 9 |

ON
PLEASE READ ALL THE INSTRUCTIONS CAREFULLY BEFORE MAKING ANY ENTRY
THE OMR ANSWER SHEET.

1. T8 IR-uw o A vl ¥, ge uf, e wh o e wf | g waf aem T w |
This answer sheet consists of three copies, the Original Copy, the Board Copy and the C
separate or displace them. . 5

2. mmiﬁﬁ-ﬁéﬁqmiﬁmﬁ et et e s v | s e e e f AT A7
Use Black Ballpoint Pen only. Use of Pencil/Gel pen is strictly prohibited. Do not darken the Board Copy
Candidate's Copy separately. S - T

3. WM. W-W@Qﬁ%a%ﬁé‘ﬁmﬁsmqm | el st o7 T, o e, T SR 1 g A & AR
T FH W 7l Y 3 FEE S |
Do not fold or put any stray marks anywhere on the OMR answer sheet. Use of any other paper,
mobile, etc., is prohibited and will lead to disqualification.

4. T 3. TH. . I-TF I 1 T CHET G & R ST | ST AT T W W ST AL TH. AR, ST A
B iR 3 Site T8 f s |
Your OMR answer sheet will be evaluated through electronic scanning process. Incomplete or incorrect entries will
render yvour OMR answer sheet invalid and will not be evaluated.

5. T SIS S SR 311G, . IT-TTF § A1 € | 311U, IG5 o Seetd sh AR AE ¢ |
Carefully fill in all the necessary particulars on the OMR answer sheet. Change of OMR answer sheet is not permitted.

6. TR 3T 379 I A U Y 70 TS ) I FR &, A 3T I e HHT ST GH ST i1 7 @ | S ¥ we et/
Tl 1 TTa a9d = fw e =g | @& Men /Mt
If you darken more than one circle in your answer, your answer will be treated as wrong and will not be evaluated.
While darkening the appropriate circle(s) in the boxes, darken the chosen circle(s) fully as given below :

andidate’s Copy. Do not

and

calculating machine,

H2! TS/ CORRECT METHOD TIETd @ieh / WRONG METHODS

o) JoJo OFHO® DROO® OSedd® OO® D@

7. el 1 UvEi % I AHAFH IW 1, 2, 3TAM4 T A | TIH T F T IT G ¢ 3R 0. TR, IW-T H e e
T & | T g AT aee R gt T R | e o R 0., -0 T e 3 T R, Treg, wote, W e vened/
arseR i o M aEa T @ |
Candidates have to answer questions from the multiple choice of answers 1, 2, 3 and 4. Select the right answer of

each question and darken the correct circle on the OMR answer sheet. Once darkened changes are not permitted.
Use of eraser, nail, blade, white fluid/ whitener etc., to smudge, scratch, damage in any manner on the OMR

answer sheet during examination is strictly prohibited.

8. apegeff afien @A € T A1 T, S, IHC-T ot it Bt arer B for s Frtterss o1 el 3 | anrefl i e Prlter wre avem
a0 3% 7 A amet | 2aemd e g s yfa A Swwar g |
Candiates must hand over the OMR Answer Sheet without separating the three copies to the invigilator at the end
of examination. Invigilator will hand over the Candidate's Copy after separating it. The Candidate can take away

the Candidate's copy of OMR Answer Sheet with him/her.

o. ferahl ¥ g1 1 ST 4 A TS T 5T, I 1 B s I it 7 |
In case of any discrepancy in following the instructions, candidate's OMR Answer Sheet will be rendered invaliq
and will not be evaluated.

LE ;’XNWSW oF Registration Number Roll Number Q-SB:io::et - -0
- — a - o empted
ait.qH. S, T EEEEEEEEE ——
Candidate must fill all the entries as OO @.@@ 00 OO ©@ OO QOO 0O @ sieh ©
demonsirated IJeIO}N-] ggzgggg’ ’(]J" ’G)CD@@G)Q%@.G) @@@@ LD@@@@@(D@ Udu @
Repie Tl rea43457, Question | OO QDG QBB VB OV OV OO QO VD O ——
Booklet Series B, Language -1 Urdu, G)(D OJOX 4 (D (’ ©) Q)LD Lﬁﬁg QDQ) Qb(a .Qﬁ @@ . nt@
Part - IV : Social Studies /0. Subjects. @@ @ ? <) (UQ) (:f) (‘_‘)(‘D QIS (DG) QIO T} ol 1010} _PE-T_'IT‘
s fa wefeld gred & Han 6! I IOISISIOIOIOO O] TolbIelota) Q0] 16) Maths/
afafezal sifea &1 1 3wEwA & OO OO@OLLOOLO|@OOOEOO®OOO®O® © |[Science @
foru dfteRT FHIE ¢ 1554609910, | DO (DD OODODOODNODDDD @D DD DD D@ Social
S Hi® : 652876443457 - @O OO OO H OO OO O@ OO ®® @O @G Bidieay
st - B, v - 11 : 3, |00 0OV 000V OV OO OO OO OG|| © St
S 1y ; QI S5 | ==l

Paper — 2/B 32



FRESHERS NOW

UPTET 2019 REVISED AND FINAL ANSWER KEY DATED 31/01/2020

Answer Key for Upper Primary Level (Second Session) (Set-A)
y Question Answer y Answer Question | Answer Key || Question No [Answer Key| [ Question ||Answer Key
| Question No || Answer Key No Key Question No Kesi No No
Part - | Part - Il (Urdu)
1 25 3 1 3 76 p 27 06 3
2 47 2 62 2 i 22 07 3
3 48 2 63 2 78 23 08 1
4 49 2 64 79 3 24 09 4
5 2 50 3 65 80 3 25 1 0
6 51 66 K 81 3 26 2 1
7 z 52 67 82 27 4 2
8 53 ‘ 68 83 p 28 2 3 4
9 4 54 z 69 3 84 29 4 2
0 55 70 4 85 30 5 2
1 56 71 3 86 31 z 6 3
2 57 72 4 87 32 4 i
3 p 58 73 88 33 8
4 59 74 89 2 134 4 19 4
5 4 60 75 90 3 135 2 20 4
16 4 Part - il (English) 76 3 (i e 136 3 121 1
Science
7 61 2 7 4 91 4 37 4 22 4
8 p 62 78 4 92 3 138 23 4
9 3 63 4 79 4 93 4 139 24 4
20 64 4 80 94 40 25 4
21 & 65 1 81 95 41 2 26 2
22 z 66 3 82 96 42 2 27 2
23 4 67 83 97 2 43 3 28 1
24 g 68 4 p 98 g 44 1 129 4
25 4 69 p 5 p 99 2 45 p 30 3
26 1 70 4 6 4 00 4 46 3 131 2
27 3 74 1 87 K 01 47 1 132 2
28 3 72 3 88 4 02 48 4 133
29 3 73 3 89 4 03 2 49 3 134
30 74 4 90 2 104 4 50 2 135 2
S . Part - IV (2) (Social
Part - Il (Hindi) 75 4 Part - Il (Sanskrit) 105 3 Studies/Other Subjects) 136 4
31 4 76 p. 61 2 106 4 91 4 Eid 3
32 4 77 1 62 2 07 4 92 3 38 2
33 4 78 4 63 3 08 2 93 3 39 1
34 79 8 64 4 09 3 94 2 40 4
35 2 80 4 65 4 0 4 95 4 41 1
36 2 81 1 66 3 1 3 96 2 42 2
37 4 82 4 67 2 97 4 43 4
38 3 83 3 68 4 3 98 44 3
39 4 84 3 69 4 99 2 45 2
40 4 85 4 70 5 00 4 46 2
41 86 71 2 6 01 1 47
42 87 72 k 7 4 02 4 48
43 88 4 73 2 8 3 103 4 49 3
44 4 89 2 74 4 19 4 104 1 50 1
45 0 3 75 2 3 105
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UPTET 2019 REVISED AND FINAL ANSWER KEY DATED 31/01/2020

Answer Key for Upper Primary Level (Second Session) (Set-B)

Question Answer Key Question Answer Qurestion No. Answer Question | Answer Key || Question No. | Answer Key Question ||Answer Key
No. No. Key Key No. No. ]
Part - | Part - Ill (Urdu)

1 46 2 61 76 21 2 06 4
2 2 47 62 77 22 2 07 3
3 4 48 63 78 23 08 1
4 49 64 2 79 24 09 4
5 4 50 65 p 80 25 p 0 :
6 4 51 66 1 81 26 1 2
7 52 67 4 82 27 4 2 3
8 53 68 4 83 28 3 4
9 54 4 69 4 84 4 29 ’ 4 4

0 55 70 z 85 130 B

1 56 4 71 86 2 31 2 6

2 57 4 72 4 87 2 132 4 i 2

3 58 4 73 88 1323 p 8 1
4 4 59 3 74 89 4 134 2 9 4

5 3 60 2 75 4 90 4 135 3 20 2
16 3 Part - IIl (English) 76 4 1t L (Mathsiand 136 1 121 3

Science

7 61 3 77 91 37 3 22 2
18 62 4 78 4 92 38 4 123 4
19 1 63 79 4 93 39 124

20 4 64 80 2 94 40 2 25 2
21 2 65 4 81 1 95 8 41 2 26 4
22 1 66 2 82 4 96 “ 42 4 27
23 2 67 2 83 97 4 43 28 2
24 1 68 4 84 y 98 Z 44 4 129

25 4 69 1 85 1 99 1 45 2 130 4
26 3 70 4 6 1 00 4 46 3 31 2
27 3 il 1 87 2 01 47 1 132 2
28 72 2 88 2 02 z 48 3 133 3
29 3 73 3 89 a 03 49 2 134 4
30 2 74 2 0 3 04 2 5 3 135 1
indi : Part - IV (2) (Social Studies/Other

Part - Il (Hindi) 75 4 Part - Ill (Sanskrit) 105 4 Subjects) 136 2
31 /6 e 61 06 1 91 4 37 2
32 77 3 62 1 07 4 92 38 1
33 4 78 4 63 2 08 93 2 39 1
34 79 2 64 2 109 4 94 4 40 3
35 80 1 65 1 0 1 95 4 41 2
36 81 3 66 2 111 3 96 1 42
37 82 67 3 112 97 4 43

38 2 83 1 68 3 3 98 2 44

39 84 4 69 114 4 99 45 2
40 1 85 4 70 5 1 00 46 3
41 2 86 2 i) 6 4 01 47 4
42 4 87 3 72 7 02 48 4
43 88 4 73 4 8 4 03 4 49 4
44 4 89 4 74 1 9 1 04 3 50 4
45 90 2 45 20 05 3

P& a0
a e % 6{ S e @ ”
Zé/ﬂ\/ A -~ % N e” 20+ A
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UPTET 2019 REVISED AND FINAL ANSWER KEY DATED 31/01/2020

Answer Key for Upper Primary Level (Second Session) (Set-C)
Question | Answer Question | Answer Question | Answer || Question No. | Answer Key Question No.| Answer Key | |Question No.| Answer Key
No. Key No. Key No. Key
Part - 1 Part - Il (Urdu)
1 46 3 61 4 76 1 21 1 6 2
2 4 47 3 62 3 77 1 22 3 07 3
38 1 48 E 63 4 78 4 23 i 08 2
4 4 49 2 64 1 79 3 24 3 09 4
5 3 50 1 65 4 80 3 125 1 0 2
6 4 51 1 66 4 81 4 26 1 1 1
7 1 52 E 67 2 82 2 27 1 2 4
8 3 58 4 68 4 83 3 28 4 3 2
9 4 54 3 69 84 4 29 2 4 2
10 R 55 3 70 85 4 30 1 5 3
k] p 56 4 71 86 1 31 4 6 3
2 4 57 1 12 4 87 2 32 2 7 3
3 4 58 1 73 88 2 33 3 8 1
14 4 59 4 74 89 4 34 4 9 1
15 3 60 4 75 4 35 1 20 2
6 2 Part - Il (English 76 4 Part - IV (1) (Maths & Science) 36 2 21
14 2 2 T 91 2 37 4 22
8 4 62 4 78 92 4 38 2 23 4
9 2 63 4 79 2 93 1 39 2 24 4
20 1 64 3 80 2 94 3 40 2 25
21 2 65 3 81 4 95 4 41 1 26
22 4 66 2 82 96 4 42 3 27
23 4 67 3 83 2 97 2 43 28 3
24 3 68 4 84 4 98 2 44 29 4
25 2 69 4 85 3 99 4 45 z 30
26 3 70 3 86 4 100 2 46 4 31
27 4 71 2 87 3 01 4 47 32
28 1 72 2 88 3 02 [ 48 33 4
29 4 73 3 89 3 03 4 49 34 4
30 . 74 1 90 1 04 g 50 35 p.
Part - Il (Hindi) 75 4 Part - lll (Sanskrit) 105 4 Part - IV (2) (Social 136 2
31 2 76 61 06 3 91 37
32 4 77 : 62 4 07 4 92 38
83 2 78 63 1 08 k 93 39
34 79 g 64 3 09 4 94 4 40
85 p 80 2 65 2 0 4 95 1 41
36 p 81 4 66 4 1 4 96 3 42
37 2 82 67 4 2 1 97 4 43 2
38 3 83 68 3 4 98 1 44 3
39 4 84 69 4 1 99 k 145 4
40 z 85 70 4 5 3 00 4 146 3
41 86 71 6 01 2 147 4
42 4 87 2 72 4 7 102 4 148 1
43 4 88 73 4 8 03 2 49 2
44 4 89 4 74 1 9 4 04 3 5 3
45 90 3 75 4 20 3 05 3

el
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UPTET 2019 REVISED AND FINAL ANSWER KEY DATED 31/01/2020

Answer Key for Upper Primary Level (Second Session) (Set-D)
Question | Answer Question | Answer Question | Answer || Question No. | Answer Key Question No.| Answer Key | |Question No.| Answer Key
No. Key No. Key No. Key
Part -1 Part - I (Urdu)
1 46 4 61 2 76 3 21 3 06
2 47 2 62 3 77 1 22 1 07 p
3 3 48 3 63 2 78 2 23 2 08
4 49 2 64 2 79 3 24 3 09 1
5 2 50 2 65 4 80 3 25 4 0 2
6 4 51 3 66 k 81 4 26 4 1 2
7 3 52 4 67 2 82 1 27 2 2 4
8 4 53 4 68 3 83 1 28 ® 3 4
g 3 54 F 69 4 84 3 29 2 4 3
0 2 55 Z 70 3 85 3 30 4 5 4
1 56 1 71 3 86 3 3 1 6 1
12 1 57 1 72 4 87 3 32 3 i 2
3 3 58 2 73 4 88 4 33 8 2
4 1 59 3 74 89 4 34 9 1
5 4 60 1 75 9 3 35 20 1
6 1 Part - Il (English) 76 Part - IV (1) (Maths & Science) 36 4 21 4
T 3 61 1 T 2 91 37 2 22 4
8 3 62 1 78 92 38 4 23 3
9 2 63 2 79 93 39 4 24 3
20 1 64 4 80 94 40 25 1
21 2 65 3 81 95 41 26 4
22 3 66 1 82 2 96 42 2 27 4
23 4 67 3 83 2 97 43 4 28
24 3 68 3 84 2 98 4 44 4 29
25 1 69 p 85 4 9 2 45 1 30 4
26 3 70 p 86 3 00 3 46 4 31
7 4 71 87 1 01 2 47 4 32 2
28 2 72 88 3 02 3 48 33 2
29 73 89 4 03 2 49 34 2
30 74 2 0 04 3 150 4 35 2
indi : Part - IV (2) (Social
Part - Il (Hindi 7 Part - lll (Sanskri
i - i N\ Y o o Studies/Other Subjects) s =
31 4 76 61 4 06 R 91 3 137 4
32 g 77 4 62 3 07 4 92 4 38
33 3 78 63 3 08 3 93 2 39 p
34 3 79 4 64 4 09 4 94 4 40
35 4 80 p 65 3 0 2 95 2 41 2
36 81 4 66 4 1 2 96 3 142 3
37 82 67 3 2 2 97 4 43 4
38 83 68 4 3 4 98 2 44
39 2 84 69 p 4 2 99 p 45
40 85 70 1 5 2 100 3 46
41 p 86 71 4 6 01 2 47 4
42 2 87 2 72 4 17 102 1 48 2
43 2 88 g 73 3 18 03 1 49 3
44 1 89 3 74 2 9 3 04 3 50
45 4 90 2 75 2 2 1 05 3
0> 20
s G B ’
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